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ﬁg TREOBBOEILHIOKRES TREDOHBESSLADKRES TREOBBOSILEIDOKRES TREOHBESSLADKRES
R e | BT R | B2 | e | e | B2 | BT e | B2 | TR | & | e
’ 100kN/ Mm% 2 % 1.00/0.00 ~ 3.28 152.52|3m%E#8%5%(0.00 ~ 0.25| 3.13 16.74| 100kN/m%E#B 2 % 1.00( 10.54 ~ 32.00 152.52(3m%xi#E 25| 25.00 ~ 32.00| 3.13 16.74
zh st 1.00/ 3.28 ~ 11.06 100.00( Zhist [0.25 ~ 11.06] 3.00 16.05 Fhst 1.00[ 500 ~ 10.54 100.00f Zh st | 500 ~ 25.00| 3.00 16.05
) 100kN/m%# 2 % 1.00[{0.00 ~ 3.27 152.30| 3m%#8%%(0.00 ~ 0.20[ 3.10 16.59| 100kN/m%#8 2 % 1.00( 10.56 ~ 33.19 152.30(3m%x = % 30.00 ~ 33.19| 3.10 16.59
zh st 1.00| 3.27 ~ 11.05 100.00( x5t [0.20 ~ 11.05) 3.00 16.05 Fhst 1.00[ 500 ~ 10.56 100.00f =4t | 5.00 ~ 30.00| 3.00 16.05
3 100kN/m%# 2 % 1.00/0.00 ~ 263 141.42|3mEBZB| - ~ - - -] 100kN/mM%#8% % 1.00( 11.42 ~ 39.36 141.42|3m%E#BZ2 % -~ - - -
zh st 1.00| 2.63 ~ 10.42 100.00f x5t [0.00 ~ 10.42( 2.90 15.50 Fhst 1.00[ 500 ~ 11.42 100.00f =4t | 500 ~ 39.36] 2.90 15.50
A 100kN/m%# 2 % 1.00/0.00 ~ 284 144.89|3mEBZB| - ~ - - —| 100kN/mM%#8% % 1.00[( 11.13 ~ 39.52 144.89|3mEH 25 -~ - - -
zh st 1.00] 2.84 ~ 10.62 100.00| Zhist [0.00 ~ 10.62| 2.94 15.72 Fhst 1.00[ 500 ~ 11.13 100.00f Zh st | 500 ~ 39.52| 294 15.72
5 100kN/mM%BZ 5 -l -~ - -|3m%Ei#BZ5 -~ - - —| 100kN/mM%#8% % - -~ - ~-|3m&x#Z5 -~ - - -
zh st 1.00/0.00 ~ 744 95.04| ZhLlst 1000 ~ 7.44| 1.94 10.36 ZFhst 1.00[ 500 ~ 11.30 95.04| ZhLlst | 500 ~ 11.30[ 1.94 10.36
6 100kN/ Mm% 5 -l -~ - -|3m%Ei#BZ5 -~ - - —-| 100kN/mM%#8% % - -~ - —-|3mx#Z5 -~ - - -
zh st 1.00/0.00 ~ 6.95 88.06] #hList |0.00 ~ 695 1.91 10.20 Fhst 1.00[ 500 ~ 9.05 88.06| Z#hnLls | 500 ~ 9.05[ 1.91 10.20
; 100kN/m%# 2 % 1.00/0.00 ~ 0.70 110.43|3m&EBZB| - ~ - - -] 100kN/mM%#8Z% % 1.00( 12.22 ~ 15.37 110.43|3m%E#B2 % -~ - - -
Zh st 1.00/0.70 ~ 8.49 100.00[ Zhlst 000 ~ 849 212 11.35 ZFhst 1.00[ 500 ~ 1222 100.00f =h st | 500 ~ 15.37| 2.12 11.35
8 100kN/MZ#BZ % 1.00/0.00 ~ 067 110.03|3mZ#BRBH| - ~ - - -] 100kN/mM%#Z% % 1.00[ 11.79 ~ 1451 110.03|3m%x#Bz % -~ - - -
zhs 1.00|0.67 ~ 8.46 100.00| Zh st | 000 ~ 846 1.98 10.59 Thst 1.00[ 500 ~ 11.79 100.00f Zh st | 500 ~ 1451| 198 10.59
9 100kN/ MZ#8 2 % -l -~ - -|3m%EiHBZ % -~ - - —| 100kN/mM%#BZ % - -~ - —-|3m%iBx 5 -~ - - -
zhs 1.00/0.00 ~ 6.70 8466 ThList [0.00 ~ 0.00] 1.65 8.84 Thst 1.00[ 500 ~ 836 8466 ThLls | 500 ~ 836[ 1.65 8.84
10 100kN/mM%#8 2 % -l -~ - -|3m%EiHBZ % -~ - - —| 100kN/mM%#BZ % - -~ - —-|3m%iBx 5 -~ - - -
zhs 1.00/0.00 ~ 5092 7411 FhList [0.00 ~ 0.00] 1.60 8.58 Thst 1.00[ 500 ~ 7.08 7411 Fhbist | 500 ~ 7.08] 1.60 8.58
» 100kN/MZ#B% % 1.00{0.00 ~ 1.91 129.36(3m%x#BR S| - ~ - - -] 100kN/mM%#Z% % 1.00( 1259 ~ 3246 129.36|3mx#BZ % -~ - - -
zhs 1.00]1.91 ~ 969 100.00| Zh st 000 ~ 969 279 14.95 Thst 1.00[ 500 ~ 1259 100.00f Zh st | 500 ~ 32.46| 2.79 14.95
12 100kN/MZ#B% % 1.00/0.00 ~ 279 144.05(3mZE#BR S| - ~ - - -] 100kN/mM%#BZ% % 1.00( 10.73 ~ 27.71 144.05|3m%E#BZ % -~ - - -
ZFhilst 1.00|2.79 ~ 1057 100.00| Zh st [ 000 ~ 1057 2.92 15.63 Thst 1.00[ 500 ~ 10.73 100.00f Zh st | 500 ~ 27.71| 292 15.63
13 100kN/mMZ#B% % 1.00/0.00 ~ 218 133.83|3m%x#BRBH| - ~ - - -] 100kN/mM%#Z% % 1.00( 10.94 ~ 22.05 133.83|3m%xi#Bz % -~ - - -
zhs 1.00|2.18 ~ 9.96 100.00| Zh st 000 ~ 996 255 13.64 Thst 1.00[ 500 ~ 10.94 100.00f Zh st | 500 ~ 22.05| 255 13.64
100kN/M%#28 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhs ~ zhst ~ zhst ~ ZhLst ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zh st ~ zhs ~ zhst ~ st ~
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